COCHIN PORT TRUST





Name of Wok:"PROVIDING HANDRAIL, ALUMINIUM DOOR, MS GATE, 2 NOS. CATWALKS & STAIR PAINTING AT OTB".

SCHEDULE- A- SCHEDULE OF QUANTITIES TO BE DONE ON CONTRACT

	Please Enter the Contractor Name						
Sl.N o:	Sub- heads and items of work	Approxi-mate Quantity	Unit	Department al rates (Rs) in figures	-	Amount (Rs) in figures	Amount (Rs) in words
1	Structural steel work riveted, bolted or welded in built up sections, trusses and framed work, including cutting, hoisting, fixing in position and applying one coat of approved steel primer including cost of all labour, materials etc. complete as per detailed specifications and directions of the Engineer-in-charge.	685.00	One Kilogram	138.28	Rupees One Hundred Thirty Eight and Twenty Eight Paise Only	94721.80	Rupees Ninety Four Thousand Seven Hundred Twenty One and Eighty Paise Only
2	Applying priminmg coat with ready mixed red oxide/ Zinc Chromate primer of approved brand and manufacturer on steel work including cost of all labour, materials, tools etc. complete as per detailed specifications and directions of the Engineer-in-charge.	27.00	One square metre	68.9	Rupees Sixty Eight and Ninety Paise Only	1860.30	Rupees One Thousand Eight Hundred Sixty and Thirty Paise Only

Sl.N o:	Sub- heads and items of work	Approxi-mate Quantity	Unit	Department al rates (Rs) in figures	-	Amount (Rs) in figures	Amount (Rs) in words
	Finishing with Epoxy paint two or more coats at all locations prepared and applied as per manufacturers specification including appropriate priming coat, preparation of surface, cost of all labour, materials, tools etc. complete as per specifications and directions of the Engineer-in-charge.	352.00	One square metre	257.88	Rupees Two Hundred Fifty Seven and Eighty Eight Paise Only	90773.76	Rupees Ninety Thousand Seven Hundred Seventy Three and Seventy Six Paise Only
	Providing and fixing Galzing with float glass pains of 5.50mm thickness in Aluminium door, window, vintilator shutter and partitions etc. with EPDM rubber/ neoprene gasket etc. including cost of all labour, materials, tools, euipments etc. complete as per detailed specifications and directions of the Engineer-in-charge	2.10	One square metre	1761.86	Rupees One Thousand Seven Hundred Sixty One and Eighty Six Paise Only	3699.91	Rupees Three Thousand Six Hundred Ninety Nine and Ninety Paise Only
	Structural steel work riveted, bolted or welded in built up sections, trusses and framed work, including cutting, hoisting, fixing in position and applying one coat of approved steel primer including cost of all labour, materials etc. complete as per detailed specifications and directions of the Engineer-in-charge.	245.00	One Kilogram	138.28	Rupees One Hundred Thirty Eight and Twenty Eight Paise Only	33878.60	Rupees Thirty Three Thousand Eight Hundred Seventy Eight and Sixty Paise Only

Sl.N o:	Sub- heads and items of work	Approxi-mate Quantity	Unit	Department al rates (Rs) in figures	_	Amount (Rs) in figures	Amount (Rs) in words
6	Applying primining coat with ready mixed red oxide/ Zinc Chromate primer of approved brand and manufacturer on steel work including cost of all labour, materials, tools etc. complete as per detailed specifications and directions of the Engineer-in-charge.	45.00	One square metre	68.9	Rupees Sixty Eight and Ninety Paise Only	3100.50	Rupees Three Thousand One Hundred and Fifty Paise Only
7	Finishing with Epoxy paint two or more coats at all locations prepared and applied as per manufacturers specification including appropriate priming coat, preparation of surface, cost of all labour, materials, tools etc. complete as per specifications and directions of the Engineer-in-charge.	45.00	One square metre	257.88	Rupees Two Hundred Fifty Seven and Eighty Eight Paise Only	11604.60	Rupees Eleven Thousand Six Hundred Four and Sixty Paise Only
8	Supplying and fixing with Mechanical Anchor bolts HAS M10 x 98 35/25, 100mm long for hand rail and gate including cost of all labour, materials, tools, equipments etc. complete as per the directions of the Engineer in-charge.	44.00	One Number	183.6	Rupees One Hundred Eighty Three and Sixty Paise Only	8078.40	Rupees Eight Thousand Seventy Eight and Forty Paise Only

Sl.N o:	Sub- heads and items of work	Approxi-mate Quantity	Unit	Department al rates (Rs) in figures	_	Amount (Rs) in figures	Amount (Rs) in words	
9	Plastering in cement mortar 1:3 (1 cement: 3 sand) wherever required, 20mm thick finished with a floating coat of neat cement slurry including cost of all labour, materials, tools, scaffolding etc. complete as per detailed specifications and directions of Engineer-in-Charge	1.25	One square metre	626.11	Rupees Six Hundred Twenty Six and Eleven Paise Only	782.64	Rupees Seven Hundred Eighty Two and Sixty Three Paise Only	
	Total					248500.50	Rupees Two Lakh Forty Eight Thousand Five Hundred and Fifty Paise Only	
	BIDDER'S QUOTING AREA							
	Description of work	Departmen-tal Estimated Cost (Rs)		age Quoted below the # In Words	Above/Below	Bidders Quoted Amount (Rs.)	Bidders Quoted Amont (Rs.) in Words	
	Percentage quoted above/ below the departmental amount shown in the above schedule.			0.2 0.0				
	* The tenderer shall quote either plus or minus sign (eg: +5 or -5) in figures only and minimum two decimal digits shall only be							

[&]quot;This is an Electronic Submission. No Need of Signature"